
Many HW problems have had a special symmetry to them, 
simplifying the math.  What if that is not available?

Find the E-field at point P.

y

xQ1=+3µC Q2=–2µC
x=0.5m

P (0.8m, 0.35m)



Find the E-field at point P:
• Find each magnitude from point charge formula
• Get components from similar triangles

y

xQ1=+3µC Q2=-2µC
x=0.5m

P (0.8m, 0.35m)

2
1 0.7625mr =

2
2 0.2125mr =

|E2|=84.71 kN/C

|E1|=35.41 kN/C
E1=(32.44, 14.19) kN/C

E2=(-55.13, -64.31) kN/C

(32.44 55.13,14.19 64.31)kN/C
( 22.69, 50.12)kN/C

TE = − −
= − −


